n
=123,.--) 75,
Z:: +k4+1 n )

(1) a, (n>1)%k0 X,
(2) S,=Dlkay FoLE. S, (n21)akw K,
k=1
()
k2 k2 k2 k2

e Bkt :(k4+1)2_k4 Tt 2 et -k 1)

_l[ 1 J_l{ 1
2kt -1 Kkl 2 kz(k2—1)+1 (k2+1)l(2+1

a=il 1 B 1 }:l{ 1 1
A2 - Kt 2[00 -1)+1 [P+ 1p? 1

(2) ;= Yk = n%@‘;}lik—iz £

k=1 k=1 k4 +k2 +1 2k:1 2k:1k4+k2+1
k k k
K+ k2 +1 k4+2k2+1 ( +1)2 k2 +k+IXk2—k+1)

1 1 1 1 1
_E[kz_k+1_k2+k+1j_§{k(k—l)+l_(k+1)k+1}

Lo 1 a(n+1)  n(n+1)
Zk—? =

k=1 2 4

N | —

%é{k(k —11)+1 B (k+11)k+1} :%{1(1 —11)+1 B (n+11)n+1} :%[l_ n :,HJ




